


w e  a r e  p a s s i o n a t e  

a b o u t  h y d r a u l i c s …

hydro-pneumatic hhhhhydroo--ppppnnneumaaattttttiiiiiicccccy

PA
PAC
PAD

TXV AAPPPPPPAAAAAA
PPPPAC
PAD

PPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPVV

XP
　

  

/

 

 

  









 



i . . . .

. . . .

. . . .

. . . .

. . . .

. . . . .

. . . .

. . . . .

. . . . .

. . . . .

ntelligent



-

-
+

+
-

. . . . .

. . . . .

. . . . .

. . . .

. . . .

. . . .

. . . .

. . . . .

. . . . .
. . . .



i 

i
i
i
i
i
i
i
i
i
i

i
i
i
i
i
i
i
i
i
i

2001000

90

100

%

300 350 (bar)

i 

　　　



� A

E

F

� A

E

F

. . .

. .

. .

. . .

. . .

. . .

. . .

. . .

i 



i 

. . . .

. . . .

. . . .

. . . .

. . . .

. . . .

. . . .

. . . .

. . .

. . . .

. . . . . .
. . . ..

. . . . .
. . . .

. . . . . .

　　　

i 

　　　

　　　



i 

 



i 

  

i 

    



(

(

-

-

i 

    

　　　

ﾞ



i 

i
i
i
i
i
i

2001000

90

100

%

300 350 (bar)

i
i
i
i
i
i

　　　

　　　

 (lbf ft) 

i 

 (psi) 

　　



� A

E

F

� A

E

F

i 

 XA

XA

　   



i 

　　

i 

　





　　 
 12  114 cc/rev

 2x32  2x75 cc/rev
: 75 - 40 cc/rev

　　

　25  80 cc/rev
2x25  2x40 cc/rev

: 2x32  2x67 cc/rev
: 55-33  67 - 40 cc/rev

　　



. . . . .

. . . . .

. .

. . .

. . .

. . .

. . . . .

. . . . .

. . . . .
. . .
. . .

. . .

. . .

. . .

. . .

. . . . .

. . . . .

. . .

. . .

. . .

. . . .

. . . .

. . . .

. . . .

. . . .

. . . .



C =             ω  = 

PA  (N.m) (N.m) PAC

(N.m)
PA
PAC  (N.m) 

PAD

　　
:

kW
N.m  rpm 
　 bar 
　 l/min 

 rad/s 



2001000

90

100

%

300 350 (bar)

　　　　

PA PAC

PA
PAC PAD

　　



C

 A

 B

D

E

F

C

 A

D

E

 B

.

.

 9
0

 4
7

 5
5

 4
3

15

2

62

10

. . .

:

:





1

2
3

1  3

2

　　



XV



=0):

ﾞ
LS

LS

LS



　　

.

.

.

.

.

.

.

.

. .

C =             ω= 

　

　

　

　　

:
 kW   

 N.m 
 rpm 

　 bar
　 l/min 

 rad/s 



2001000

90

100

%

300 350 (bar)

　　



.

.

.

.
. .

　





i

.



.



　

   　  

　

　

.

.





.

.



.

.

.



C

 A

 B

D

E

F

C

 A

D

E

 B

.

.

.

 9
0

 4
7

 5
5

 4
3

15

2

62

10

:



indexable
indexable

able
able



　





INFORMATIONi



　

　

　

　
　



A dedicated R&D team means HYDRO LEDUC is able to adapt or create 

products to meet specifi c customer requirements. Working in close 

cooperation with the decision-making teams of its customers, HYDRO LEDUC optimizes 

proposals based on the specifi cations submitted.

w e  a r e  p a s s i o n a t e

a b o u t  h y d r a u l i c s …

hydro-pneumatic 
accumulators
Bladder, diaphragm accumulators.

Spherical and cylindrical accumulators. Volume 

capacities from 20 cc to 50 liters. Pressures up 

to 500 bar.

Accessories for use with hydraulic accumulators.

hydraulic motors 

Fixed displacement bent-

axis pistons motors. 

Models from 12 to 126 cc.

Available both in ISO 

and SAE versions.

hhhhhydroo--ppppnnneumaaattttttiiiiiicccccy

micro-hydraulics 
This is a fi eld of exceptional 

HYDRO LEDUC know-how: 

of fi xed and variable displacement,

 axial piston micro-hydraulic motors,

pump, electric motors, valving, controls, 

etc.

To users of hydraulic components which have to be 

housed in extremely small spaces, 

HYDRO LEDUC offers complete, original and reliable 

solutions for even the most diffi cult environments.

PA
PAC
PAD

TXV

piston pumps 
for trucks

HYDRO LEDUC offers 3 types of piston pumps perfectly 

suited to all truck and PTO-mount applications.

Fixed and variable displacement from 12 to 150 cc.

AAPPPPPPAAAAAA
PPPPAC
PAD

PPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPVV

pisto

XPPPPPPXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXPPPPP

Fixed displacement pumps, the W series, and variable 
displacement pumps, the DELTA series. High pressure 
capabilities within minimal size.
W series: fl anges to ISO 3019/2, shafts to DIN 5480.
DELTA series: SAE shafts and fl anges.

mobile and 
industrial pumps

o t h e r  p r o d u c t  l i n e s



W
Series



. 1

. 1

. 2

. 3

. 4

5
-

-

-

-

 



(rpm) (bar) (m.N) (l/min) (°C) (kg)

W12 3150 400 / 450 67 37.80 5.5

W18 3150 400 / 450 98 56.70 5.5

W25 2500 400 / 450 140 62.50 11.5

W32 2500 400 / 450 175 80.00 11.5

W41 2250 400 / 450 227 92.25 11.5

W45 2300 400 / 450 252 103.50 18

W50 2300 400 / 450 280 115.00 18

W63 2250 400 / 450 350 145.00 18

W80 2300 400 / 450 445 184.00 23

W90 2100 400 / 450 497 189.00 23

W108 1900 400 / 450 595 205.00 23

W125 1950 400 / 450 695 244.00 30

*

W R M2 ... ..

01 02 03 04 05 06 07 08

W

12 18 25 32 41 45 50 63 80 90 108 125

01

02

03 ISO 3019-2, 4 bolt A

04
DIN 5480 W25 W25 W25 W30 W30 W30 W35 W35 W40 W40 W40 W45 W1
DIN 6885 Ø 25 Ø 25 Ø 25 Ø 30 Ø 30 Ø 30 Ø 35 Ø 35 Ø 40 Ø 40 Ø 40 Ø 45 D1

R05

06 M2

07 SH
SIH

08 HP
GF

----        ----



2

I

B

C

A

D

J

H1

U3

U2

U1

 T

 S

40°

K

G

M

N

 R

E F

G

P
H2

B
A

F
K

view from G
view from B

Models W12 and  W18

outlet

M 22 x 1.5 depth 14

M 27 x 2 depth 16

impl 3

impl 2

impl 1

A B C D E F G I J K M N P R S T U1 U2 U3

W12 123 20 6 39 44 17 - 80 51.5 58 - - - - 100 9.0 M12x1.5 M12x1.5 M8x1
W18 123 20 6 39 44 17 - 80 51.5 58 - - - - 100 9.0 M12x1.5 M12x1.5 M8x1
W25 144 25 8 56 60 22 47.6 100 69.0 66 40.5 18.2 22.2 19 125 11.0 M16x1.5 M16x1.5 M10x1
W32 150 25 8 56 60 22 47.6 100 69.0 71 40.5 18.2 22.2 19 125 11.0 M16x1.5 M16x1.5 M10x1
W41 150 25 8 56 60 22 47.6 100 69.0 71 40.5 18.2 22.2 19 125 11.0 M16x1.5 M16x1.5 M10x1
W45 168 32 10 59 68 30 52.5 125 84.0 85 50.8 23.8 26.2 25 160 13.5 M18x1.5 M18x1.5 M12x1.5
W50 168 32 10 59 68 30 52.4 125 84.0 85 50.8 23.8 26.2 25 160 13.5 M18x1.5 M18x1.5 M12x1.5
W63 168 32 10 59 68 30 52.4 125 84.0 85 50.8 23.8 26.2 25 160 13.5 M18x1.5 M18x1.5 M12x1.5
W80 194 32 10 68 80 35 58.7 140 90.5 97 57.2 27.8 30.2 32 180 13.5 M18x1.5 M18x1.5 M12x1.5
W90 194 32 10 68 80 35 58.7 140 90.5 97 57.2 27.8 30.2 32 180 13.5 M18x1.5 M18x1.5 M12x1.5
W108 194 32 10 68 80 35 58.7 140 90.5 97 57.2 27.8 30.2 32 180 13.5 M18x1.5 M18x1.5 M12x1.5
W125 207,6 40 10 60 89 35 69,9 160 107,5 100,8 66,7 31,8 35,7 38 200 17,5 M18x1,5 M18x1,5 M14x1,5

H1 H2 Impl 1 Impl 2 Impl 3

W12 28 Ø25 (8 x 7 x 32) 40 M22x1.5 M27x2 - - M8
W18 28 Ø25 (8 x 7 x 32) 40 M22x1.5 M27x2 - - M8
W25 43 Ø25 (8 x 7 x 40) 50 SAE ½" SAE ¾" M8x1.25 prof 15 M10x1.5 prof 17 M8
W32 35 Ø30 (8 x 7 x 40) 50 SAE ½" SAE ¾" M8x1.25 prof 15 M10x1.5 prof 17 M10
W41 35 Ø30 (8 x 7 x 40) 50 SAE ½" SAE ¾" M8x1.25 prof 15 M10x1.5 prof 17 M10
W45 35 Ø30 (8 x 7 x 50) 60 SAE ¾" SAE 1" M10x1.5 prof 17 M10x1.5 prof 17 M12
W50 40 Ø35 (10 x 8 x 50) 60 SAE ¾" SAE 1" M10x1.5 prof 17 M10x1.5 prof 17 M12
W63 40 Ø35 (10 x 8 x 50) 60 SAE ¾" SAE 1" M10x1.5 prof 17 M10x1.5 prof 17 M12
W80 50 Ø40 (12 x 8 x 56) 70 SAE 1" SAE 1"¼ M12x1.75 prof 20 M10x1.5 prof 17 M16
W90 50 Ø40 (12 x 8 x 56) 70 SAE 1" SAE 1"¼ M12x1.75 prof 20 M10x1.5 prof 17 M16
W108 50 Ø40 (12 x 8 x 56) 70 SAE 1" SAE 1"¼ M12x1.75 prof 20 M10x1.5 prof 17 M16
W125

W25x1.25x30x18x9g
W25x1.25x30x18x9g
W25x1.25x30x18x9g

W30x2x30x14x9g
W30x2x30x14x9g
W30x2x30x14x9g
W35x2x30x16x9g
W35x2x30x16x9g
W40x2x30x18x9g
W40x2x30x18x9g
W40x2x30x18x9g
W45x2x30x21x9g 50 Ø45 (14 x 9 x 63) 80 SAE 1" SAE 1"½ M12x1.75 prof 20 M12x1.75 prof 20 M16



40 60 80 100 120 140 160 180 200 220 240 260 280 300 320 340 360 380 400
0

W 125

W 32 

W 50

W 41
W 45

W 63

W 80

W 90

W 108

W 25 

W 18 

W 12 

0

10

20

30

40

50

60

80

70

0

50

100

150

200

250

300

0 500 1000 1500 2000 2500 3000 3500

W12

W18

W25

W32

W41

W45

W50

W63

W80

W90

W108

W125

2001000

90

100

%

300 350 400 (bar)

 (m.daN)

(bar)

N (rpm)

Q (l/min)

 

  

3



- class 9 according to NAS 1638;
- class 6 according to SAE;
- class 18/15 according to ISO standard.

U3
U3

0.5
 ba

r

cc 12 18 25 32 41 45 50 63 80 90 108 125

Fr N 2800 4000 6000 6500 7000 6500 7500 9000 10500 6700 7000 14500

Fa N/bar 15 20 27 30 40 40 40 50 60 67 80 86

= =

Fr

Fa

 

4



DELTA
SAE

Serie



. . . . . . . . . . . . . . . . . . . . . . 1

2

5

■ 

■ 

■ 

■ . 4 to 8

9

10

11

12

■ 

■ 

■ 

■ 

■  13

 

. . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . .

 

. . . . . . . . . . . . . .

. . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . .



■ 

■ 

40��

50

60

70

80

90

100

110

120

0

10

20

30

16 18 20 22 24 26 28 30 32 34 36 38

1 2 3

(cc) (bar) 5%) (bar) (Nm) (rpm) (kg)

DELTA 40
0512370 

0512375
40 400 420 440 220 3000 29

DELTA 60
0513140 

0513145
60 400 420 440 295 2600 29

DELTA 75
0512340 

0512345
75 400 420 440 410 2000 29

DELTA 92
0512350 

92 380 400 420 483 1900 29

Di
sp

la
ce

m
en

t o
f t

he
 p

um
p 

- 
cc

X  mm

X
DELTA 40 to DELTA 92

0212355

1



A B C D � E � F � G H I J M N O P

DELTA 40 282 329 47 10
25.4 

h9

101.6 

h8
80

28.1 JS13 

(bey width 6.38h9)
9.5 46 62 97 146 R8

DELTA 60 to 92 282 339.1 57.1 13 31.75 h8
127 

h7
95

35.2 JS13 

(bey width 8e9)
12.7 58.4 62 97 181 R10

■ 

O

M8

P

M

N

D

B
F G HB BB
E

J
I

C A
B

F

36

2
9

1
5

28

2
5

36

2
9

1
5

28
19

2
5

6
.4

5

6
.4

5

view from F view from F

G  1"½
inlet G  3/4"

outlet

2 x M10 depth 15  
to attach support device

19

2



■ 

■ 

■ 

C  = P (kW)  
x 1000  = N.m

=
N

30

P (kW)
P x Q

600
=

■ 

1000

50

0

100

150

200

2000 3000 3600

92

75 60

40

 Q ( /min.)

N (rpm)

200100500
0

100

200

300

400

500

600

700

800

N.m

300 400 bar

40

60

75
92

590

516

443

310

275

221

141

14

225 450 2900 4350 5800 PSI

2001000
90

100
%

300 400 bar

 1,500 rpm

1450 2900 4350 5800 PSI

 

 

 
 

3

ω



■ 

1
4

9

operating pressure P

flow Q

■ 
(kg)

PC 0519180 1.10

PCD 0519070 1.10

PCDM
0519340 

0512602

2.50

LS 0515333 1.10

LSD 0519080 1.10

KPF 0520693 0.30

R1

P

4



■ PCD -

1
4

9

flow Q

operating pressure P

P1 
(G 1/4")

P

A

5



■ PCDM -

1
5

9

flow Q

operating pressure P

■ 

max  
displacement 

minimal Q

trust minimal 
flow Q

PC

A

R1

P

6



E

LS

■ LS -

1
4

9

flow Q

operating pressure P

■ 

- 
- 

■ 

soit P = f (
Q

S )
Q

S

R1 RX

LS

PA

LS (G1/4")

　　　 

■

7



■ LSD -

1
6

5

flow Q

operating pressure P

■ 

soit P = f (
Q

S )
Q

S

P1

(G1/4")

P

A

RX

LS

LS (G1/4")

　　　　 

■

8



■ DELTA 

(cc)  (bar) (bar) (Nm) (rpm)
(kg)

DELTA 40
0521300 

0521305
40 400 420 440 220 3000 29

DELTA 60
0521310 

0521315
60 400 420 440 295 2600 29

DELTA 75
0521320 

0521325
75 400 420 440 410 2000 29

DELTA 92
0521330 

0521335
92 380 400 420 483 1900 29

T

A

T

LS

P

0

0 50 100 150 200 250 300 350 400

20

40

60

80

100

120

140

160

180

200

P = 75kW

P = 55kW
P = 47kW
P = 35kW
P = 22kW

Pressure (bar)

Fl
ow

 (l
/m

in
)

 (bar)

9



■ 

Fr : 

Fa : 

35/40°Fr 35/40° Fr

Fr Fr

■ 

■ 

A Ø B C D E F

240131 G 1"½ 40 60 17 61 77

240133 G 1"½ 50 60 17 65 82

C

 A

 B

D

E

A Ø B C D E

051523 G 1"½ 40 56 14 54

240067 G 1"½ 50 52 14 66

240066 G 1"½ 60 64 14 69

240186 G 1"½ 63,5 64 14 69

240201 G 1"½ 76.2 80 14 89

F

C

 A

D

E

 B

Fa

Fr

10



● 

● 

✔
● 

● 

●

✘
● 

● 

● 

 

 

 

 

 

 



■

■ 

■ 

■ 

■ 

■ 

 

■ 

 
■ 

 

12



MXP
              Series



■
. 1

■ 2

3■

■ 4

■ 5

6■ 

7

8

. 9

  
  . . . . . . . . .

. . . . . . . . .

. . . . . . . . .

. . . . . . . . .

. . . . . . . . .

. . . . . . . . .

. . . . . . . . .■

 

. . . . . .

. . . . . . . .

■ 

■ 

 

 

 



■ 

■ 

■ 

1



■

■

■

■ 

■ 

T1

B
A

T1

B
A

  

 

 

 
 

■

 

 

 
 

2



■ 

N  =

C  = 

P  = 

P  = 

Disp.  = 

Q = 

 = 

1.

Disp. x P

20 
 = C

th
     

C = C
th
 x motor

2.

N = 
Q

Disp.
 x 1000   

■ 

➀
➁
➂
➃
➄
➅

1. 

C
th
 =  

Disp. x P
  thus Disp.  Cy = 35.9 cc

2. 

N =  
Q

Disp.
  x 1000  thus Q = 14.36 l/min 

 
 

  

 

 

  
 

  
20 

 3



■ 

(cc) (rpm) (rpm) (l/mn) (m.N/bar) (m.N) (°C) (bar)

MXP12-092965 12 8000 8800 96 0.19 66 −25 / 110 400 / 450

MXP18-092890 18 8000 8800 144 0.28 98 −25 / 110 400 / 450

MXP25-092895 25 6300 6900 158 0.4 140 −25 / 110 400 / 450

MXP32-092900 32 6300 6900 202 0.5 175 −25 / 110 400 / 450

MXP41-092905 41 5600 6200 230 0.65 227 −25 / 110 400 / 450

MXP50-092910 50.3 5000 5500 252 0.8 280 −25 / 110 400 / 450

MXP63-092915 63 5000 5500 315 1 350 −25 / 110 400 / 450

MXP80-092925 80.4 4500 5000 362 1.27 445 −25 / 110 400 / 450

MXP108-092930 108.3 4000 4400 435 1.7 595 −25 / 110 400 / 450

MXP126-092970 126 3400 4400 428 2.0 700 −25 / 110 400 / 450

*

■ 

MXP 12 MXP 18 MXP 25 MXP 32 MXP 41 MXP 50 MXP 63 MXP 80 MXP 108 MXP 126

Fa (N/bar*) 15 20 30 30 40 40 50 60 80 90

*

Fa

 

4



100

90

80

70

60

50

20 100 200 300 400 bar

%

MXP 18

MXP 12

MXP 12 - 18

100

90

80

70

60

50

20 100 200 300 400 bar

%

MXP 25

MXP 25

100

90

80

70

60

50

20 100 200 300 400 bar

%

MXP 41

MXP 32

MXP 32 - 41

100

90

80

70

60

50

20 100 200 300 400 bar

%

MXP 108

MXP 80

MXP 80 - 108

100

90

80

70

60

50

20 100 200 300 400 bar

%

MXP 126

MXP 126

100

90

80

70

60

50

20 100 200 300 400 bar

%

MXP 63

MXP 50

MXP 50 - 63

■ 

 

5



80

98

8
0

A

D

C

2 x G

B

14.5
7

37.9

–0.4
+0.2

55

F

1,9 0.1

+0.2
–0.4

– 
0

.0
1

3

25.95

24

0.1

+
–

 0

+
–

E

40°

8
0

M
1
2
-6

H

4 x 12.75

Splines 8-32-36

DIN ISO 14 NF E 22.131

drain G3/8”

View from F

F

(cc)
A B C D E F G

(kg)

MXP12-092965 12 171.5 71.9 103.9 197.9 108.5 54 G 3/4” 9.3

MXP18-092890 18 171.5 71.9 103.9 197.9 108.5 54 G 3/4” 9.3

MXP25-092895 25 171.5 71.9 103.9 197.7 108.5 54 G 3/4” 9.3

MXP32-092900 32 177.7 77 109.1 203.8 108.5 54 G 3/4” 10.3

MXP41-092905 41 177.7 77 109.1 203.8 108.5 54 G 3/4” 10.3

MXP50-092910 50,3 189.3 86.8 118.9 215.4 108.5 54 G 3/4” 11.5

MXP63-092915 63 189.3 86.8 118.9 215.4 108.5 54 G 3/4” 11.5

MXP80-092925 80,4 216.2 99.5 133.3 241.7 123.5 60 G 1” 14.5

MXP108-092930 108,3 216.2 99.5 133.3 241.7 123.5 60 G 1” 14.5

MXP126-092970 126 218.5 101.43 135.2 244 123.5 60 G 1” 14.5

6



■ 

1

2

3

4 

1

2

3

4

 

 

7



■ 

Fr

B A

70°

Fr

B A

70°

Fr

B A

45°Fr

B A

45° Fr

B A

■ 

H

 

    

■

■

8





2

...............................................
.....................................................................

........................................................................
.

.
...............................................................

.

.

MA ........................
MA .....................

.

.

.
.

.

.

.

.....................................................

.

M

MA

MA 10  180 ...........................................

MSI

.........................................................
.................................................

ATEX ..................................................................

.........................................52
 ....................................................



3

M

MA

MSI

M
A 

se
rie

s
M

SI
 s

er
ie

s
O

pt
io

ns
Ac

ce
ss

or
ie

s
M

 s
er

ie
s

5 cc/rev - CETOP
 12 180 cc/rev - ISO

10 180 cc/rev

ISO –
28 125 cc/rev



4

:
;

;
 ( )

: ,
:

 ( )

M  /  M A  /  M S I  

 = 1000 rpm 
ISO46  (25°C) 



5

　　LEDUC



6

:

 (90
115 °C),  19/17/14 ISO 4406 .

200rpm
 ( 50 rpm

). .

LEDUC

.
LEDUC  (

52 ).

:
: 15 400 cSt;
: 5  1600 cSt. LEDUC FKM (Viton ®)

: -25
115 °C

, HYDRO LEDUC  NBR
-40  80°C



7

T1

T2

T1

T2

 (CW)  (CCW)

T1,T2

:
( )  (int P) : 4 bar;
( ) (int P) : 5.5 bar;

:  (ext P).



8

       = C

C = C

N =            x 1000Q
Displ.

:
N = ( rpm)
C =  (N.m) 

P = A B  (bar)
Cy =  cc/rev
Q =  (l/min) 

 =  (%)

: 50 cc/rev P  250 bar
200 N.m.  90% : 180 
N.m.



9

M

　

2.

Q =
1000

N x Disp.

N = 400 rpm 200 N.m.

( ) :

LEDUC  32 cc/rev 41 cc/rev .

Q :

:
32 cc/rev , Q = 12.8 l/min
41 cc/rev , Q = 16.4 l/min



10

.

. . .

. .

. . .

. . . .

. . . .

. . . .

. . . .

. . .

. . .

.

. . .

.

. . .

. . .

. . .

. .
. . . .

= =

M

M

(1)
350 bar

400bar

/
(l/mn)

(1)
(2) M 108 R  M 125

Fr:

Fa:

B



M
 s

er
ie

s

... . .

01 M

02

A

04

W1
W2
D1
D2

L0
M0
N0
N1
Q0
Q1

06 M2

07
1
0

08
1
0

SV
VB

10
N
F

M

02-10

A,B

SA
E

0 =
1 =

T1 , T2

M5093840



12 M  5 _ 0 9 3 8 4 0M

CETOP

mm



13

M
 s

er
ie

s

M  1 2  -  1 8

mm

M



14 M  2 5M

mm



M
 s

er
ie

s

M  2 5 M

mm



16 M  2 8  -  3 2  -  4 1M

mm

W30 x 2 x 30 x 14 x 9 g



M
 s

er
ie

s

M  2 8  -  3 2  -  4 1 M

mm



18 M  4 5  -  5 0  -  6 3M

mm



19

M
 s

er
ie

s

M  4 5  -  5 0  -  6 3 M

mm



20 M  8 0  -  9 0  -  1 0 8M

mm



M
 s

er
ie

s

M 108
. .
. .
. .
. .

M 108
. .
. .
. .

.

M  8 0  -  9 0  -  1 0 8 M

mm



22 M  1 0 8  R  -  1 2 5M

    M 108 R .M 125 5076 (350 bar)

mm.



23

M
 s

er
ie

s

M  1 0 8  R  -  1 2 5 M

mm



24

　

M  1 6 0  -  1 8 0M

mm



M
 s

er
ie

s

M  1 6 0  -  1 8 0 M

mm



26

= =

. .

. . . . . . . . . . . . . . .

. . . . . . . . . . . . . . .

.

. . . . . . . . .

. . . . . . . .

. . . . . . . .

. . . . . . . .

. . . . . . . .

. . . . . . . .

. . . . . . .

. . . . . . .

. . . . . .

. . . . . . .

. . . . . .

. . . . . .

. . . . . .

. . . . . . .

. . . . . . .

M A

M A   ( S A E ) 

350 bar
400bar

/

(1)

Fr:

Fa:

A B



M
A 

se
rie

s

... . .

01 MA

02

C

04

S1

S2

D1

K1

K2

L0

M0

N0

N1

Q0

Q1

06 U2

07
1

0

08
1

0

SV

VB

10
N

F

 M A

02-10

SAE J744 

 A, B

S
A

E

0 =
1 =

 T1,T2

Yes (NBR)



28 M A  1 0  -  1 2  -  1 8M A

() mm



29

M
A 

se
rie

s

M A  1 0  -  1 2  -  1 8 M A

() mm



30 M A  2 5M A

() mm



3
1

M
A 

se
rie

s

M A  2 5 M A

() mm



32 M A  3 2  -  4 1M A

() mm



M
A 

se
rie

s

M A  3 2  -  4 1 M A

() mm



34 M A  4 5  -  5 0  -  6 3M A

() mm



3
5

M
A 

se
rie

s

M A  4 5  -  5 0  -  6 3 M A

() mm



36 M A  8 0  -  9 0M A

1.89 (48) 

() mm



3

M
A 

se
rie

s

M A  8 0  -  9 0 M A

() mm



38 M A  1 0 8  R  -  1 2 5M A

() mm



39

M
A 

se
rie

s

MA 108R
. . . .

. . . .

. . . .

. . . .

M A  1 0 8  R  -  1 2 5

MA 108R
. . . .

. . .
. . .
. . . .

M A

() mm



40 M A  1 6 0  -  1 8 0M A

() mm



4

M
A 

se
rie

s

M A  1 6 0  -  1 8 0 M A

() mm.



42

.

. . .

. . .

. . .

. .

.
. .

.
. .

. .

. .

= =

M S I 

M S I

(1)

(1)
(2) The MSI 108 R MA 125 .

Fr:

Fa:
B



43

M
SI

 s
er

ie
s

... ... . .

01 MSI

02

B

04 W1
W2

L0

06 M1

07
1
0

08
1
0

SV

M S I

02-08

2  ISO 3019-2 

SAE



44 M S I  2 8  -  3 2  -  4 1

mm



45

M
SI

 s
er

ie
s

M S I  5 0  -  6 3 M S I 

mm



46 M S I  8 0  -  9 0  -  1 0 8M S I 

mm



47

M
SI

 s
er

ie
s

M S I  1 0 8  R M S I 

mm



48 M S I  1 2 5M S I 

mm



49

O
pt

io
ns

Ac
ce

ss
or

ie
s

M

MA

MSI

  &  

L E D U C  :  0 9 3 3 2 7 

M, MA, MSI

.

: = 10 N.m.



50

M

MA

 I LEDUC : VBS 091180

 (N1 or Q1).



51

O
pt

io
ns

Ac
ce

ss
or

ie
s

CE II 2 GD c TX HL1

ATEX

LEDUC ATEX

 LEDUC Group II category 2 D TX.
Group II category 2G Group II category D T4.

Group II category 2  ATEX 1  ( )  ATEX 21  ( )
G = .
D =
TX =

　　ATEX

:

 ( ).
 ATEX.

: Group II category 2GD c TX ( TX  T3  T4).
 TX  ( ) T4 or T3

T4 275°F (135°C) 158 °F (70°C) .
T3 392 °F (200°C) 230 °F (110°C).



52

T3

H

,

(M T3 ). T3 M

M | MA MSI

.



53

A B

A B

HYDRO LEDUC ( )
 ( )

　　 2
　　

:

: 25 bar.

 (

).



MT45

(mm):

- 45 cc

 A  B : SAE J518C 
SAE 3/4" 6000 psi - Threads M10. Depth17 mm 

 T  T1 : ISO 11926  -  7/8"-14UNF-2B

25.40

19 ±0.10

3 -0.20
0

 22 

 19
.02

4 

21
.77

4 ±
0.0

0622
.22

-0
.02

+0
.01

74

12.70

28

114.50

13
5 h

8

88

137.30

13
0

R10

7/8"-14UNF-2B (ISO 11926)

28

74 78

72
.50

7/8" - 14 UNF-2B  (ISO 11926)

80

2.20

40

A

A

T

T1

125:1000

6.35

2 x 14 R10

185

R10

14
2.7

0

77
.30

160

60.4

5/8
"-1

8U
NF

-2
A

28 4

14.40

47.6

22
.22

81.90

23.80

50
.80

75 15
4

14
4

19

53.20 8 x M10 depth 17
14

Implantation
SAE 3/4" 6000 psi

B

A



:

:

A

+  (150 bar 300 bar)

A

CCWCW

MT45 

 (cc/rev) 45,1
 (rpm) 4000
(rpm) 4200

 (L/min) 180.4
(bar) 280
 (bar) 300

 (N.m/bar) 0.72
280 bar (N.m) 200
280 bar (kW) 84

(°C) -25 / 110 
 (kg) 18.5

 (N) 1500
 (N) 2000



A dedicated R&D team means HYDRO LEDUC is able to adapt or create 

products to meet specifi c customer requirements. Working in close 

cooperation with the decision-making teams of its customers, HYDRO LEDUC optimizes 

proposals based on the specifi cations submitted.

w e  a r e  p a s s i o n a t e

a b o u t  h y d r a u l i c s …

hydro-pneumatic 
accumulators
Bladder, diaphragm accumulators.

Spherical and cylindrical accumulators. Volume 

capacities from 20 cc to 50 liters. Pressures up 

to 500 bar.

Accessories for use with hydraulic accumulators.

hydraulic motors 

Fixed displacement bent-

axis pistons motors. 

Models from 12 to 126 cc.

Available both in ISO 

and SAE versions.

hhhhhydroo--ppppnnneumaaattttttiiiiiicccccy

micro-hydraulics 
This is a fi eld of exceptional 

HYDRO LEDUC know-how: 

of fi xed and variable displacement,

 axial piston micro-hydraulic motors,

pump, electric motors, valving, controls, 

etc.

To users of hydraulic components which have to be 

housed in extremely small spaces, 

HYDRO LEDUC offers complete, original and reliable 

solutions for even the most diffi cult environments.

PA
PAC
PAD

TXV

piston pumps 
for trucks

HYDRO LEDUC offers 3 types of piston pumps perfectly 

suited to all truck and PTO-mount applications.

Fixed and variable displacement from 12 to 150 cc.

APPPPPPAAAAAA
PPPPAC
PAD

PPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPVV

pisto

XPPPPPPXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXPPPPP

Fixed displacement pumps, the W series, and variable 
displacement pumps, the DELTA series. High pressure 
capabilities within minimal size.
W series: fl anges to ISO 3019/2, shafts to DIN 5480.
DELTA series: SAE shafts and fl anges.

mobile and 
industrial pumps

o t h e r  p r o d u c t  l i n e s



- Diaphragm
- Bladder
- Bladder-diaphragm



1

. 2

. . . . . . . . . . . . . . . . . . . . . . . . . . .

3

4-5

6-7

8-9

10-11

12-13

14

15

16

 17

. . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . .

. . . . . . . . . . .

. . . . . . . . . . . . . . . . . .



1



2



AS 0.7 060782 P E/1 310367 D 100

3



  p0 V 0 p1 V 1 p2 V 2

ACS 330 bar ACSL 210 bar

4



CD

B
A

C D　　　　　 A B
ACS 0,7 066695 M33 x 1.5 G1/2’’ 14 20

ACS 0,7 066735 M26 x 1.5 M14 x 1.5 14 16

ACS
litres bar CE

A
mm Ø B

ACS0.7 066445 0.7 330 4 176 screw

065975 0.7 330 4 176 P1620 valve

066035 0.7 330 4 176 screw

066130 0.7 330 4 176 screw

066255 0.7 330 4 176 P1620 valve

065950 0.7 330 4 176 screw

065952 0.7 330 4 176 screw

066845(1) 0.7 330 4 176 screw

065947(1) 0.7 330 4 176 SCHRADER valve

ACS1 065960 1.1 330 5,9 246 screw

065976 1.1 330 5,9 246 P1620 valve

065964 1.1 330 5,9 246 screw

066855(1) 1.1 330 5,9 246 screw

065965(1) 1.1 330 5,9 246 SCHRADER valve

ACS1,5 065940 1.5 330 7,8 315 screw

065977 1.5 330 7,8 315 P1620 valve

066840 1.5 330 7,8 315 screw

065945(1) 1.5 330 7,8 315 SCHRADER valve

066865(1) 1.5 330 7,8 315 screw

ACS2 066705 2 330 9,9 393 screw

066675 2 330 9,9 393 P1620 valve

ACS2,5 065910 2.5 330 11,5 464 screw

065978 2.5 330 11,5 464 P1620 valve

066875(1) 2.5 330 11,5 464 screw

065915(1) 2.5 330 11,5 464 SCHRADER valve

066685(1) 2.5 330 11,5 464 SCHRADER valve

ACS4 065920 4 330 17,5 696 screw

065979 4 330 17,5 696 P1620 valve

066885(1) 4 330 17,5 696 screw

065925(1) 4 330 17,5 696 SCHRADER valve

066690(1) 4 330 17.5 696

G3/8"

G3/8"

G3/4"

G1/2"

G1/2"

M16 x 1,5

M18 x 1,5

3/4-16UNF-2B(SAE8)(1)

3/4-16UNF-2B(SAE8)(1)

G3/4"

G3/4"

M18 x 1,5

3/4-16UNF-2B(SAE8)(1)

3/4-16UNF-2B(SAE8)(1)

G3/4"

G3/4"

M18 x 1,5

3/4-16UNF-2B(SAE8)(1)

3/4-16UNF-2B(SAE8)(1)

G3/4"

G3/4"

G3/4"

G3/4"

3/4-16UNF-2B(SAE8)(1)

3/4-16UNF-2B(SAE8)(1)

1"1/16-12UN-2B(SAE12)(1)

G3/4"

G3/4"

3/4-16UNF-2B(SAE8)(1)

3/4-16UNF-2B(SAE8)(1)

1"1/16-12UN-2B(SAE12)(1) SCHRADER valve

ACSL*
litres bar CE

A
mm Ø B

ACSL0.7 068125 0.7 210 3 175 screw(2)

068275 0.7 210 3 175 screw(2)

068385 0.7 210 3 175 screw(2)

068440 0.7 210 3 175 P1620 valve

ACSL1 068130 0.99 210 4.5 245 screw(2)

068160 0.99 210 4.5 245 screw(2)

068280 0.99 210 4.5 245 screw(2)

068395 0.99 210 4.5 245 screw(2)

068445 0.99 210 4.5 245 P1620 valve

ACSL1.5 068135 1.5 210 5.9 315 screw(2)

068410 1.5 210 5.9 315 screw(2)

068450 1.5 210 5.9 315 P1620 valve

ACSL2 068140 2 210 7.6 392 screw(2)

068525 2 210 7.6 392 screw(2)

068455 2 210 7.6 392 P1620 valve

ACSL2.5 068145 2.5 210 8.9 463 screw(2)

068530 2.5 210 8.9 463 screw(2)

068460 2.5 210 8.9 463 P1620 valve

ACSL4 068390 4 210 13.9 695 screw(2)

068535 4 210 13.9 695 screw(2)

068465 4 210 13.9 695

G1/2"

3/4-16UNF-2B(SAE8)(1)

M18x1.5

M18x1.5

G3/4"

G1/2"

3/4-16UNF-2B(SAE8)(1)

M18x1.5

M18x1.5

G3/4"

3/4-16UNF-2B(SAE8)(1)

M18x1.5

G3/4"

3/4-16UNF-2B(SAE8)(1)

M18x1.5

G3/4"

1"1/16-12UNF-2B(SAE12)(1)

M18x1.5

G3/4"

1"1/16-12UNF-2B(SAE12)(1)

M18x1.5 P1620 valve

A
A

A

A

A

A

A
4
6

 2
0
0

(1
)

 B

114.3 (ACS)

108 (ACSL)

117 (ACS)

111 (ACSL)

1
3
.5

0

ACS - ACSL

5

(as per ISO 6149)



6

 p0 V0 p1 V1
p  V22

AF 500 bar AS 400 bar

  



1
2

1
0

41,80

G1/4"

1
0

3
6

1
1

2

A

B
D

E

K

 H

 G

 F

 C

 2
0

0
(1

)
AS-AF AC 00 02

AF
litres bar CE

(mm)

A B Ø C D E Ø F Ø G Ø H K

AF 00 50 060972 0.45 500 2.8 184 89 114 12 23 112.5 40 G3/8" 16

AF 01 00 060110 1.1 500 5.5 197 112 163.5 50.5 50.5 163.5 40 M18 x 1.5 12

AS
litres bar CE

(mm)

A B Ø C D E Ø F Ø G Ø H K

AS 00 20 060932 0.19 400 1.2 150 69 84.5 9 20 83.5 29 G1/4" 12

AS 00 50 060972 0.45 400 2.8 184 89 114 12 23 112.5 40 G3/8" 16

AS 00 70 060782 0.65 250 3 197 89 119.5 9 24 118.5 30 G3/8" 13

AS 01 00 060110 1.1 400 5.5 197 112 163.5 50.5 50.5 163.5 40 M18 x 1.5 12

AS 02 50 060812 2.55 400 14 251 161 213.5 37 29 210 51 G3/4" 17

AS 04 00 060121 4.1 400 22 298 202 251 44 40 247 105 M33 x 2 20

AS 10 00 060141 10.19 400 53 391 268 339 52.5 52.5 333 105.1 M33 x 2 20

AC 00 02 060955 0.017 400 0.640

7



 p0 V0 p1 V1
p2 V2

ABVE 330 bar

 
 

8



A

B  E

6
5

1
9

 C

 D

 F

2
0

0
(1

)

ABVE

ABVE  (mm)

A B Ø C Ø D Ø E Ø F Ø G

ABVE 4 066850 3.7 350 14 420 65 169 75 53 G1"1/4 G3/4" or full

ABVE 10 066860 9.2 330 30 568 88 219 101 76 G 2" G3/4" - 1" or full

ABVE 20 066870 17.8 330 50 888 88 219 101 76 G 2" G3/4" - 1" or full

ABVE 32 066880 32 330 80 1380 88 219 101 76 G 2" G3/4" - 1" or full

48.5 330 100 1885 88 219 101 76 G 2" G3/4" - 1" or full

 G

ABVE 50 066890

9



10

A B C D F H J

AS 00 50 / AF 00 50 
AS 00 70 
ACS / ACSL 0.7 / 1 / 
1.5 / 2 / 2.5 / 4

254021 160 139 87 118.5 M8 x 90 72.56 3

B

24
13

A

J

90

 D

F
35

C

1.5

H

4
0

9

H h L L1 L2 I

AS 04 00 254005 285.5 132 248 300 - 30
AS 02 50 254006 248 113 212 254 - 30
ABVE
10 / 20 / 32 /50 254007 - 119 216 254 297 30

AS 01 00 
AF 01 00 
ABVE 4

254022 207 92.5 148 184 - 30 9 13

H

L 1l

L

h

L

3
0

2

ACS / ACSL 065958
B 115

1
2
7

70

30 10

M8 length 50



ABVE
10 / 20 / 32 / 50 254008

100

260

235200

25

40

B159

4 x B17

AS 02 50 066451 G1/2"

AS/AF - AS 00 70 EC1063 G1/2
EC1069 M18 x 1,5

AS/AF EC1054 G1/2"
EC1056 G3/8"

AS 04 00 - AS 10 00
EC1061 G3/4"
EC1058 G3/8"
EC1059 G1/2"

ABVE 4 066305 G3/4"
066307 blind

ABVE 10/20/32/50
066074 G3/4"
066068 G1"
066069 blind

ABVE4 254012 80

210

175160

25

B108

2 x B17

11



BS 1 E24 Q 330 BQ

1

2

4

3

6

5

100 200 300 400 500 600

BS1

BS2

Pr
es

su
re

 lo
ss

 (b
ar

)

Flow (l/min)

 

12



BS

80
35 72

4
5

3
5

C

B

66

33,5

89

22,5

5
1

B A

Ø 19 
depth 1.5

Ø G3/4"
Ø 33 
depth 2.5

T G1/4"

 Ø A 3/4" 1"1/4 2"
B 16 20 24
C 30 30 35

A

P

T

BS1 M BS1 MQ

161

B A

4
7

8
4

72

C

84

40

1
3

2

A

M

PT

A

P

M

T

Ø 3/4’’ gas cyl 77

Spot-facing Ø 36.3 depth 1.2

B A

8
4

72

C

84

40

1
6

8

Ø 3/4’’ gas cyl 77

Spot-facing Ø 36.3 depth 1.2

BS1 E BS1 EQ

T P

M

A

M

A

T P

161

B A

4
7

8
4

77 72

C

84

40

1
3

2

Ø 3/4’’ gas cyl

Spot-facing Ø 36.3 depth 1.2

132 for CA
127 for CC

B A

8
4

77 72

C

84

40

1
6

8

Ø 3/4’’ gas cyl

Spot-facing Ø 36.3 depth 1.2

132 for CA
127 for CC

BS2 M BS2 MQ
A

M

PT

A

P

M

T

116

50

21
9,

52
2

1

96

226

33

11
6

116

50

15
1

2
2

1

11
6

164

96

Ø 2" gas cyl.

Ø 2" gas cyl.

BS2 E BS2 EQ

T P

M

A

M

A

T P

116

50

21
9,

52
2

1

96

226

33

11
6

116

50

15
1

2
2

1

11
6

164

96

Ø 2" gas cyl.

Ø 2" gas cyl.

132 for CA
127 for CC

132 for CA
127 for CC

T G1/4"
T G1/4"

T G1/4"
T G1/4"

T G1/4"

T G1/4"

T G1/4"

T G1/4"

Connection** on usage side
Standard version:
4 threads holes M 12 depth 20

51.6 x 51.6 between axis

 these dimensions are given as an 
indication

51,6

5
1
,6

66,7

31
,5

 50
  33

 

 84
 

 77 
 60 

Connection* on usage side 
Standard version:
4 threads holes M10 x 1.50
depth 10.5 mm

13



 (A) 

P 1620 310367 G 1/4 ACS - AS - ACSL

VGL 4
M 16 x 2.00310379 M10x1.50 ABVE

PX 1620 310527 G 1/4 AS - AF
V10N 062050 1/2 20 UNF ACS - AS - ABVE 5/8''18 UNF

Screw 066542 M8X1.25 with
BS130331 ring ACS  - ACSL VGL 4 without

Schrader 067210 G1/4 ACS - AS - ACSL VGL 4 8V1

C

P 1620

A

B

Ø 20

Part Nr. B
310367 36 19
310379 38 17
310372 36 19
V10N 23 19

M 28 x 1.50

14



15



  

 

 
  

 

 

16



TXV

XA

PA
PAC

PAD DELTA W

M

MA

MSI

XP

*

　



@

.

.

HYDRO LEDUC
:





本 社

大阪営業所

〒140-0013 東京都品川区南大井 6-25-3 いちご大森ビル 5F  E-mail : tohto@tohto-hydraulics.co.jp
TEL:03-3768-2371(代)  FAX:03-3768-2238 IP フォン:050-3785-5916 

〒532-0011 大阪市淀川区西中島 3-7-13 新大阪サクセスビル イースト 501  E-mail : osaka@tohto-hydraulics.co.jp 
TEL:06-6304-7995  FAX:06-6304-3067 IP フォン:050-3785-5920 

<ホームページ>http://www.tohto-hydraulics.co.jp/ 




